KENDRIYA VIDYALAYA SANGATHAN KOLKATA REGION
THIRD PRE-BOARD EXAMINATION 2019-20

PHYSICS (THEORY) 042

Class = XlI Maximum Marks: 70

v Please check that this question paper contains 37 questions.
v Please write down the Serial Number of the question before attempting it.
v" 15 minutes time has been allotted to read this question paper.

General Instructions :

(i) There are 37 questions in all. All questions are compulsory.

(ii) This question paper has four sections: Section A, Section B, Section C, and Section D.
(iii) Section A contains twenty questions of one mark each, Section B contains seven
guestions of two marks each, Section C contains seven questions of three marks each,and
Section D contains three questions of five marks each.

(iv) There is no overall choice. However, an internal choice has been provided in two
question of one mark each, two questions of two marks,one question of three marks and all
the three questions of five marks weightage. You have to attempt only one of the choices in
such questions.

(v) You may use the following values of physical constants wherever necessary:

c =3 X108m/s h = 6.63 x10°34Js

e =1.6 X10%°C Ho= 4X107 T m Al

€0 = 8.854 x 10" 2°C°Ntm 1/41e0= 9 x10° N m? C2

Mass of electron= 9.1 x 1031 kg

Mass of proton = 1.673 x 10?7kg Avogadro’s number = 6.023 x 1023 per gram mole

Mass of neutron = 1.675 x 10?" kg Boltzmann constant = 1.38 x 10-23JK1
Section A

Directions (Q1-Q10) Select the most appropriate option from those given below each question

1 | Aglass rod to be charged by +1 coulomb; it can be achieved

(@) Adding 6.25x10'electrons (b) Adding 6.25x10%° electrons

(c) Removing 6.25x10*8 electrons (d) Removing 6.25x10° electrons
2 | Anelectric heater of 220 V, 440 Watt, has a resistance of

(2) 2Q (b) 110 Q (€)05Q (d) 20 Q

3 | Time period of a charged particle undergoing a circular motion in a uniform magnetic field is
independent of
(a)speed of the particle, (b)mass of the particle, (c) charge of the particle (d)magnetic field

4 | Anemf of 200V is induced in a circuit when current in the circuit falls from 5A to 0A in 0.1
second. The self-inductance of the circuit is-

(@ 3.5H (b) 3.9H (c)4H (d)4.2H

5 | Davisson and Germer proved in their experiment:
(a) Wave nature (b) Particle nature (c) Dual nature (d) Refraction of
light

6 | Electromagnetic wave with lowest frequency is —
(a) visible rays  (b) infrared rays (c )microwaves (d) radio waves
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A wire of length L is melted and reconstructed in such a way that it’s diameter is reduced to half
of its original diameter. If the initial resistance of the wire were 10 Q. It’s new resistance would
be

(a) 40 Q (b) 80 ©2 (c) 120 Q (d) 160 @
8 | The binding energy per nucleon is maximum in the case of
@ He (b) Fe
(©  &Ba (d U
9 | The frequency of input signal is 60 Hz. Then frequency of the output signal for Half wave
rectifier and Full wave rectifier are respectively.
(a)60 Hz and 60 Hz. (b) 30 Hz and 120 Hz.
(c) 60 Hz and 120 Hz. (d) 120 Hz and 60 Hz.
10 | A real object is placed at the focus of the concave lens; the image will be formed at

(a) f/2 (b) Infinity ©)f (d) 2f

Directions (Q11 —Q15) Fill in the blanks with appropriate answer.

11 | The phase difference between two waves in interference is given as an even
multiple of 7.

12 | Emf is the potential difference between the positive and negative terminal of cell in

circuit.

13 | A charge Q is enclosed by a Gaussian spherical surface of radius R. If the radius is doubled,
then the electric will remain same.

14 | Paschen series is obtained when all transition of electrons terminate on orbit.

15 | Work function of Sodium is 2.7 eV. will be the KE of emitted electron when

photon of energy 5.2 eV is incident on the surface of sodium?

Directions (Q16 —Q20) Answer the following

16 | Draw equipotential surfaces due to a point charge g>0

17 | How does the mobility of electrons in a conductor change, if the potential difference applied
across the conductor is doubled, keeping the length and temperature constant?

18 | The line AB in the ray diagram represents a lens. State whether the lens is convex or concave

A/
== S
OR
Plot a graph between u and v for the image formation by a convex lens.

19 | A plane electromagnetic wave of frequency 25 MHz travels in free space along the X direction.
If the magnitude of electric field vector is given by E =6.3 V/m, find the corresponding
magnetic field B at that point.

20 | Define the term “Diffusion current’ in respect of a p-n junction.

OR
Write two advantages of LED over conventional incandescent low power lamps.
Section B
21 | In Young’s double slit experiment, the two slits are having intensity in the ratio 4:9, calculate

the ratio of Imaxto | min in interference pattern.

OR
Draw a ray diagram showing the image formation by an astronomical telescope in normal
adjustment position. Write the expression of its magnifying power.
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22

The ground state energy of hydrogen atom is -13.6 eV.
What are the potential and kinetic energy of an electron in the 1% excited state?

23

An a-particle, and a proton are accelerated with

I.  Same Kinetic energy.

Il. Same accelerating potential

Calculate the ratio of their de Broglie wavelength in both the cases?

24

Define the magnetic dipole moment of a current loop. Derive the expression for the magnetic
dipole moment when an electron revolves at a speed v around an orbit of radius r in hydrogen
atom.

25

Two wires, one of copper and the other of manganin, have same resistance and equal thickness.
Which wire is longer? Justify your answer.

26

State Lenz’s law.
A metallic rod is held horizontally along east-west direction is falling under gravity,will there
be any induced emf, justify your answer.

27

Draw energy band diagram of p & n type semiconductors. Write the difference between p and n
type semiconductors in terms of their majority charge carriers.

OR
Energy gap in a p — n photodiode is 2.8 eV. Can it detect a wavelength of 600 nm? Justify your
answer.

Section C

28

With the help of the circuit diagram, explain the working principle of Meter Bridge used to
determine the unknown resistance of a given wire? Write the necessary precautions to minimize
the error in the result.

OR
The temperature coefficient of resistivity for two materials A and B are 0.0031/°C
And 0.0068/° C respectively. Two resistors Riand R> made from materials A and B have
resistances of 200Q and 100Q at 0° C. Determine the total resistance of the series combination
of Ry and R> at the temperature 100°C .

29

(a)What is meant by half life of a radioactive element?
(b) The half life of a radioactive substance is 1000 sec. Calculate the decay constant and time
taken for the sample to decay to 15/16 th of the initial value.

30

a) Why is the radial magnetic field is used in a moving coil galvanometer? Explain how it is
achieved.

(b) A galvanometer of resistance ‘G’ can be converted into a voltmeter of range (0-V) volts by
connecting a resistance ‘R’ in series with it. How much resistance will be required to change its
range from 0 to V/2?

31

Define capacitive reactance. Draw the graph showing the variation of capacitive reactance with
frequency of AC. A capacitor C of capacitive reactance Xc is connected in series with a bulb B
and an AC source. How would brightness of the bulb change when:

() Distance between the plates of the capacitor is increased.

(i)  Gap between the plates of the capacitor is filled with a dielectric.

OR
A voltage V =V, sinot is applied to a series LCR circuit. Derive the expression for the average
power dissipated over a cycle. Under which condition is the power dissipated in the circuit is
maximum.
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32

With the help of a circuit diagram, explain the working of a junction diode as a full wave
rectifier. Draw its input and output waveforms.

33

Draw a sketch showing of a plane electromagnetic wave along the Z direction, clearly
depicting the directions of oscillating electric and magnetic field vectors.

Electromagnetic radiations with wavelength

)1 are used tokill germs in water purifiers.

heare used in TV communication systems.

A3 play an important role in maintaining the earth’s warmth.
Name the part of electromagnetic spectrum to which these radiations belong.

34

I.  What is total internal reflection? Under what conditions does it occur.
Il. Find arelation between critical angle and refractive index.
I1l. Name one phenomenon based on total internal reflection.

Section D

35

(a) Explain, using a labelled diagram, the principle and working of a cyclotron.
(b) Show that the time period of ions in a cyclotron is independent of the radius of the circular
path and speed of the ions.
(c) A electron after being accelerated through a potential difference of 100 V enters a uniform
magnetic field of 0.004 T perpendicular to its direction of motion. Calculate the radius of the
path described by the electron.

OR
(a) Derive an expression for the force between two infinitely long, parallel straight  current
carrying conductors placed at the distance “d” apart in vacuum and hence define one ampere.
(b) Show the magnetic field lines for the two infinitely long parallel straight conductors carrying
currents in the same direction.
(c) Acircular coil of 500 turns has a radius of 2 m, and carries a current of 2 A. What is the
magnetic field at a point on the axis of the coil at a distance equal to radius of the coil from the
centre?

36

(a) Draw ray diagram to show the refraction of light through a glass prism. Hence obtain the
expression for the refractive index of the material of the prism in terms of the angle of the prism
and angle of minimum deviation.

(b) A right-angled crown glass prism with critical angle 41° is placed before an object, PQ, in
two positions as shown in the figures (i) and (ii). Trace the paths of the rays from P and Q
incident normal to face AC and AB respectively on the prisms in the two cases.

A A
457
r P
)[ 20°<> B I
Q Q
g0° 4a5°
“"‘| 28
c B ©
(i} (i)
OR

i) In Young’s double slit experiment, explain with reason in each case, how the interference
pattern changes, when

a. Width of the slits is doubled.

b. Separation between the slits is increased and

c. Screen is moved away from the plane of slits

ii) Draw a graph showing the variation of intensity with diffraction angle 0 in a single slit
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experiment.
iii) Draw a graph showing the variation of intensity with path difference/ phase difference in
Young’s double slit experiment.

37

(a) Define dipole moment. Derive an expression for torque acting on a dipole with dipole
moment p placed in a uniform electric field E. Depict the direction of the torque. Express it in
the vector form.
(b) Show that the potential energy of a dipole with dipole moment p making an angle 6 with the
direction of the uniform electric field E is given by U= -p.E ;
(c) Hence find out the amount of work done in rotating the dipole from unstable to the stable
equilibrium.

OR
(a) Derive an expression for the capacitance of a parallel plate capacitor when a dielectric slab
of thickness “t” is introduced between the plates of the capacitor, each of area *A’ separated by a
distance “d’, (t<<d).
(b) A parallel plate capacitor is charged to a potential difference V by a dc source. The source is
disconnected and a dielectric slab of dielectric constant K is inserted between the plates. What
change, if any will take place in: (i) electric field between the plates? (ii) the energy stored in
the capacitor? Justify your answer.
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KENDRIYA VIDYALAYA SANGATHAN KOLKATA REGION
THIRD PRE-BOARD EXAMINATION 2019-2020
CLASS: Xll
SUBJECT: ACCOUNTANCY
TIME: 3 HOURS MAX. MARKS: 80

General Instructions:

(i)

This question paper contains two parts A and B

(i) Both Part A and Part- B are compulsory.
(i) All parts of the questions should be attempted at one place.
(iv)  Show your workings clearly wherever necessary.

PART A: ACCOUNTING FOR NPO, PARTNERSHIP FIRMS AND COMPANIES

(60 MARKS)
1. Partnership deed is also called.....
(@) Prospectus
(b)  Article of association
(c) Principles of partnership
(d)  Articles of partnership
2. | Sacrificing ratio:
(a) New ratio — old ratio (b) old ratio — new ratio
(b)  Old ratio — gaining ratio (d) gaining ratio — old ratio
3. | A and B are partners sharing profits and losses in the ratio of 5:4. C is admitted for
1/5™ share. A and B decided to share equally in future. Sacrificing ratio will be:
@ 54(@M)2:7(c)7:2(d) 11
4, An unrecorded asset was valued at RS 1,00,000. On firm,s dissolution, it was sold for
52%. Realisation account will be credited with:
(a) Rs 52,000 (b) RS 48,000 (c) Rs 1,00,000 (d) none of the above.
5. P,Q and R were partners sharing profits in the ratio 2:2:1. Q retires and the new profit
sharing ratio of P and R will be 3:1. Gaining ratio will be:
(@) 1:7 (b)2:1 (c) 1:2(d) 7:1
6. | Which of the following is NOT true in relation to goodwill?
(@) It is an intangible asset
(b) It is fictitious asset
(c) It has a realisable value
(d) none of the above.
7 When the balance sheet is prepared after the new partnership agreement, the asset
and liabilities are recorded at:
(a) Historical cost
(b)  Current cost
(c) Realisable value
(d) Revalued figures.
8 If date of drawings of the partner’s is not given in the question, interest is charged for
how much time
(a) 1 month (b) 3 months (c) 6 months (d) 12 months
9. |is accounted as a capital receipt and added to capital fund. It is not
accounted as income because it is a one-time receipt.
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10.

What is meant by Employees Stock Option Plan?

11

Name the type of ‘Capital’'which is called up only on winding up.

=

12

Debenture holders are treated as:
a. Customers of the company
b. Vendors of the company
c. Owners/Shareholders of the company
d. Lenders of the company

13

Where do we show share forfeiture account in company's Balance Sheet?

14

Calculate the amountof subscriptions outstanding from the following
information for the year ending 2018-19:
A club has 375 members each paying an annual subscription of Rs.1,000.
Subscriptions outstanding on 31st March 2018 were Rs. 60,000.
Subscriptions received in advance on 31st March 2019 were Rs. 45,000.
Subscriptions received in advance on 31st March 2018 were Rs.18,000

The Receipt and Payment Account showed a sum of Rs.3,97,500
received as Subscriptions.

OR

Calculate the amount of Subscription outstanding as on 31t March, 2019:
Subscription received during the year 2018-19 Rs. 36,000
Subscription received in advance as on 315t March 2018 Rs. 3,000
Subscription received in advance for 2018-19 Rs. 4,500.

There are 120 members each paying Rs. 400 per annum

15

The average net profits Expected of the firm in future are Rs. 68,000 per year and
capital invested in the business by the firm is Rs. 3,50,000. The rate of interest
expected from capital invested in this class of business is 12%. The remuneration of
the partners in future is estimated to be Rs. 8,000 per year. You are required to find
out the value of goodwill on the basis of 2 years purchase of super profits.

OR

X, Y and Z are partners sharing profits and losses in the ratio of 3:2:1. After the final
accounts have been prepared, it was discovered that interest on drawings @ 5% p.a.
had not been taken into consideration. The drawings of the Partners were: X
Rs.15,000; Y Rs.12,600; Z Rs.12,000. Give the necessary adjusting journal entry.

16

A and B share profits and losses in the ratio of 5 : 2. They have decided to dissolve
the firm. Assets and external liabilities have been transferred to Realisation A/c. Pass
the journal entries to effect the following:

(&) A was to bear all expenses of realisation for which he is given a
commission of Rs. 400.

(b) Deferred Advertisement Expenditure A/c appeared in the books at Rs.
28,000.

(c) An unrecorded computer realized. 7,000.

(d) There was an outstanding bill of repairs for Rs. 2,000, which was paid off.

17

Hero, Heera and Harry were partners sharing profits and losses in the ratio
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of 3:2:1.0n 31/3/2019 their Balance Sheet stood as under:-

Liabilities Amount Assets Amount
Capital Hero 75000 Cash at bank 70000
Heera 70000 Investment 50000
Harry | 50000 Patent 15000
Creditors 72000 Stock 25000
Reserve 24000 Debtors 20000
Building 75000
Machinery 36000

291000 291000

Harry died on 31° May 2019.1t was agreed that

a) Goodwill was valued at 3 yrs purchase of the average profit of the last
five years, which were ,2015-40000 ; 2016-40000 ; 2017-30000 ;2018-
40000 ;2019-50000. b ) Machinery was valued at 70000 : Patents at
20000 : and Building at 66000.c) For the purpose of calculating Harry’s
share of profits till the date of death ,it was agreed that the same be
calculated based on the average profits for the last two years. d) The
amount due to the executor of the deceased partner was payable in five
yearly installments interest free. However the partners decided to pay
the amount immediately to the executor of Harry.

Prepare Harry’s capital A/C to be rendered to his executor .

18 | On 1st April,2017 the following balances appeared in the books of Harsh
Limited:
12% Debentures (Redeemable on 31st August, 2019) Rs.20,00,000
Debenture Redemption Reserve Rs.2,00,000
The company met the requirements of Companies Act, 2013 regarding
Debenture Redemption Reserve and Debenture Redemption
Investments and redeemed the debentures. Ignoring interest on
investments pass necessary journal entries for the above transactions in
the books of the company.
19 | Following is the Receipt and Payment Account of You Bee Club for the year ended

31st December, 2019:

Receipts Rs. Payments Rs.
To Balance b/d 15,000 By Salaries 16,000
To Subscriptions: By Office Expenses 3,500
2018 6,000 By Sports Equipment 34,000
2019 35,000 By Telephone Charges 2,400
To Donations 5,000 By Electricity Charges 3,200
To Entrance Fees 8,000 By Travelling Expenses 6,500
By Balance c/d 3,400
69,000 69,000
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Additional Information:

(a) Outstanding Salaries Rs. 4,000.

(b) Outstanding Subscription for 2019 Rs. 5,500.

(c) Depreciate Sports Equipment by 25%.
Prepare Income and Expenditure Account and Balance Sheet as on 315t December,
2019 of the Club from the above particulars.

OR

From the following Receipts and Payments Account of a sports Club and from the
given additional information, prepare Income and Expenditure Account for the year
ending 31st December, 2018 and the Balance Sheet as on that date :

Receipts and Payments Account for the year ending 31st December, 2018

Receipts Amount(Rs.) | Payments Amount(Rs.)
To Balance b/d 10,000 By Salaries 65,000

To Subscriptions By Sports Equipment 62,000
(including Rs2,500 for Balance ¢/d 20,000

2019) 60,000

To Endowment fund 45,000

To Legacies 12,000

To Life membership fees | 15 200

To entrance Fees 4,800

1,47,000 1,47,000

Additional Information :

(a) The club had received Rs. 3,000 for subscription in 2009 for 2010.

(b) Salaries had been paid only for 13 months.

(c) Stock of Sports Equipment on 31st December, 2017 was Rs. 40,000 and on 31st
December, 2018 Rs. 50,000.

d) 40% of entrance fees is to be capitalised.

20

Q8) A company issues the following debentures:-

a) 1000 ,14% debentures of 100 each issued to a supplier of machinery
costing 95000,the debentures are repayable after 5 yrs

b) 300 ,13% debentures of 100 each as collateral security to a bank who
has advanced a loan of 25000 to the company for a period of 5yrs

c) Y Ltd issued 3000,9%Debenture of Rs 500 each at a discount of 4%,
redeemable at a premium of 5% after 4yrs.

OR

Yltd has total redeemable debentures of Rs 250000.1t decides to redeem
these debentures in two instalments of Rs 150000 and Rs 100000.0n
31.12.2017 and 31/3/2019 repectively. Assuming that the company has
sufficient funds in Debenture Redemption Reserve A/c,Pass necessary
journal entries for the year ending 31/3/2019.
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21.

P and R are partners sharing profits in the ratio of 3:2. On 315t March, 2019 their

Balance Sheet was :

Liabilities Rs. Assets Rs.
Capitals A/C’s Furniture 15,000
P: 35,000 Machinery 33,000
R: 30,000 65,000 Stock 23,000
Workmen Investments 20,000
Compensation Fund 10,000 Debtors 19,000

Creditors 36,000 Less:Provision 2,000 17,000
Bank Loan 9,000 Cash 12,000

1,20,000 1,20,000

They decided to admit Q into the partnership for 1/4 share in the profits on the

following terms:

a) Q brings Rs. 23,450 as his Capital. He also brings Rs. 7,000 in cash as his

share of Goodwill.

b) Depreciate Stock by 5% and Furniture by 10%.

c) An outstanding bill for repairs Rs. 1,000 will be brought in the books.

d) Debtors are all good.

e) Half of the investments were to be taken over by P and R in their profit sharing

ratio at book value.

f) Bank loan is paid off.

g) Partners agreed to share future profits in the ratio of 3:3:2.
Prepare the Revaluation Account, Partners’ Capital Accounts and the Balance Sheet
of the new firm.

OR
Bhavin, Ankit and Kartik were equal partners. Their Balance Sheet as at 315 March
2019 was :
BALANCE SHEET as at 315t March, 2019

Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 60,000 Cash 18,000
Reserve 30,000 Stock 20,000
Profit and Loss A/c 6,000 Furniture 28,000
Capital Alc : Debtors 45,000
Bhavin 60,000 Less:Provision 5,000 40,000
Ankit 40,000 Land & Building 1,20,000
Kartik 30,000 1,30,000
2,26,000 2,26,000

Ankit retired on 15t April, 2019. Bhavin and Kartik decided to continue the business as

equal partners on the following terms:
a) Goodwill of the firm was valued at Rs. 30,000.

b) The Provision for Bad Doubtful debts to be maintained @ 10 % on Debtors.

c) Land and Buildings to be increased to Rs. 1,42,000.
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d) Furniture to be reduced by Rs. 6,000.
e) Rent outstanding (not provided for as yet) was Rs. 1,500.
f) The partners decided to adjust their capital in new profit sharing ratio by
bringing or withdrawing cash as the case may be.
Prepare the Revaluation Account, Partners’ Capital Accounts and the Balance Sheet.

22

XYZ limited invited Application for 1,00,000 equity shares of Rs.10 each at a premium
of 30%. The amount was payable as follows:
On application Rs.5
On allotment Rs.5 (including premium)
On First and Final Call Balance
Application for 1,50,000 shares were received. Pro rata allotment was made for all
applicants. All the money was duly received except the allotment and first and final
call on 200 shares held by Mr. K. His shares were forfeited. All the forfeited shares
were reissued at Rs.9 per share fully paid. Pass journal entry in the books of
company.

OR
Saraswati Ltd. invited applications for 20,000 equity shares of Rs. 100 each issued at
a premium of Rs. 10 per share. The amount was payable as follows:
On application Rs. 40 (including premium), on allotment Rs. 30 per share and the
balance on first and final call.
Applications for 30,000 shares were received. Applications for 4,000 shares were
rejected and pro-rata allotment was made to the remaining applicants. Over payment
on applications were adjusted towards sums due on allotment. Jasmeet who was
allotted 200 shares failed to pay the allotment and first and final call money. Her
shares were forfeited. The 150 forfeited shares were reissued at Rs. 90 per share
fully paid-up to Somali. Pass the journal entries in the books of the company.

PART B: FINANCIAL STATEMENTS ANALYSIS
(20 MARKS)

23

State whether cash deposited in bank will result in inflow, outflow or no flow of cash
while preparing Cash Flow Statement.

24

Under which type of activity will you classify ‘Sale of shares of another company’
while preparing the Cash Flow Statement.

25

Which of the following is not the Tool of Financial Statement Analysis
(a) Common Size Statement
(b) Revaluation A/c
(c) Cash Flow Statement
(d) Accounting Ratio

26

In which of the head and sub head in balance sheet of company one can show
Debentures

(a) Share holder fund and Share Capital

(b) Non Current Liability and Other Non Current Liability

(c) Non Current Liability and Long Term Borrowing

(d) Current Liability and Other Current Liability
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27

Quick Ratio 1.8, Current Assets ¥ 80,000; Current Liabilities T 30,000 Calculate the
value of Inventory.

28

One of the objectives of ‘Financial Statement Analysis is to judge the ability of the
firm to repay its debt and assessing the short term as well as the long term
liquidity position of the firm.” State two more objectives of this analysis.

29

A business had its current ratio of 3:1. If they pay some of their current liability then it
will their Current Ratio. (Improve/reduce/no change)

30

The current liabilities of a company are Rs. 3,50,000. Its Current ratio is 3 and liquid

ratio is 1.75. Calculate the amount of Current assets, Liquid assets and Inventory.
OR

A company’s Inventory Turnover Ratio is 5 times ; Inventory at the end is Rs. 10,000

more than that in the beginning. Revenue from operation(all credit) are Rs. 4,00,000.

Rate of Gross Profit on cost Y. Current Liabilities Rs. 1,20,000 ; Quick Ratio 0.75 .

Calculate the amount of Current Assets.

31

From the following information of sun Ltd., prepare a comparative income statement:
Particulars 2018 2019

Revenue from
operations 8,00,000 9,00,000

Gross profit 40% on sales 50% on sales
Administrative expenses | 20% of gross profit 15% of gross profit
Income tax 50% 50%

32

The summarized Balance Sheets of Samridhi Ltd. as at 315t March 2018 and 2019
are :

Particulars Note | 31.03.2018 31.03.2019
No.
EQUITY AND LIABILITIES
1. Shareholders’ Funds
Share Capital 4,50,000 4.50,000
Reserves and Surplus :
General Reserve 3,00,000 3,10,000
Balance of Statement of P/L 56,000 68,000
2. Non-Current Liabilities
Mortgage Loan -- 2,70,000
3. Current Liabilities
Trade Payables (Creditors) 1,68,000 1,34,000
Short term provisions : Prov. 75,000 10,000
for Taxation
TOTAL 10,49,000 12,42,000
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ASSETS
1. Non Current Assets
Fixed Assets (Tangible) 4,00,000 3,20,000
Non-Current Investments 50,000 60,000
2. Current Assets
Inventories (Stock) 2,40,000 2,10,000
Trade Receivable (Debtors) 2,10,000 4,55,000
Cash and Cash Equivalents 1,49,000 1,97,000
TOTAL 10,49,000 12,42,000

Additional Information :

a) Investment costing Rs. 8,000 were sold during the year 2018-19 for Rs.

8,500

b) Tax paid during the year was Rs. 74,000
C) During the year, part of the fixed assets costing Rs. 10,000 was sold for
Rs. 12,000 and the profit was included in Statement of Profit and Loss.
You are required to prepare the Cash Flow Statement.
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General Instructions:

(DAnswer all the questions. Some questions have internal choice. Marks are indicated
against each question.

(if) Questions number 1 to 20(Part-A) are objective type questions carrying 1 mark
should be one word or one sentence each.

(ii)Answer to question carrying 3 marks (Part-B Question 21 to 24) should not exceed
100 words each.

(iv)Answer to question carrying 8 marks (Part-C Question 25 to 27) should not exceed
350 words each.

(V) Question number 28 to 30(Part-D) are source based questions carrying 6 marks
each.




(vi)Question number 31(Part-E) is a Map question that includes identification and
location of significant test items. Attach the map with the answer book.

H[-1/ PART-A
139 et &1 AW wasy, S uA SR Tifvwa S diul # I@ew afed ge g1 1
a) or@-fawt
b) RA-dqdl
c)ﬁﬁ'ﬂ?
d) wgdl

Name the Traveller who was amazed by looking the plants like Paan and Coconut.
a) Al-Biruni

b) Ibn-Battuta

c) Bernier

d) Manucci

TH2-gS W Rl b Hewyul Rd Higslice! DI @iel {bd [RIdlfde & gRI ! T
oo 1

Mohenjo-Daro, one of the sites of Harappan civilization was discovered by which
archaeologist?

U 3- DIU P 1929 & HUA T DI AT YTd U g1 1?2 1
What was the resolution adopted at the Lahore Congress session of 1929?
U-4 HETHRA o] JAT D TRBRUT foh g qaR fohar 1

Who prepared the critical edition of Mahabharata?
U9-5- fUqgdiRidar 1 g2 1
() URAR P TG HI A1 e &l

() URAR BT U U1 a1 4oy gl

() URaR &1 9@ ATl 3R e a1 gl

() URAR &1 HE 91 FA T,

What is Patriliny?

(A) Head of the family is Mother/Female.

(B) Head of the family is father/male.

(C) Head of the family are both Mother and Father.
(D) Head of the family is elder son.



UY-6- T Uil e ... L U R ferd T o 1

The earliest inscriptions were written on the materlals

UY-7- FfIRaId # I fh HIST T ITIHT &Wwwﬁwﬁmmﬁw
TRT T2 1

@) fedl

() "I d

(1) IRpd

(%) 3

Which one of the following language was used by the earliest common people?

(A) Hindi

(B) Prakrit

(C) Sanskrit

(D) Urdu

U9-8- did WWRT & Jay § Ay feiiRdd sl 4R faar sifom- 1
. Biae H [f¥e qaarst, fay © U ¥ 31f¥, $5 3R Y &1 U= § 67 fid g |
1. T fob T ST b IR UR 3 HAl BT IR {1 SITdl AT, STgl T AR,
TN, 3w WA 3R ¢ SitaeT 311G b e urefe1 o |

9 H Y S AR HY ol 82

() Hdd |

(&) bad I

@ 13R 11

(1) SRIad § Y s ).

Consider the following statements regarding the Vedic tradition:

I. The Rigveda consists of hymns in praise of a variety of deities, especially Agni, Indra
and Soma.

I1. Many of the hymns were chanted when sacrifices were performed, where people
prayed for cattle, sons, good health, long life, etc.

Which of the following statement(s) is/are correct?

(A) Only |

(B) Only Il

(C) Both land Il

(D) None of the above

UY-9- HRAIT AfAET D1 URSY JiHTT b 3fede i o 2 1
(@) YIHRTT Sfagdy



() GHTY o S

(M T Gt

CREEENIH

Who was the head of the drafting committee of the Indian Constitution?
(A)B.R. Ambedkar

(B) S.C.Bose

(C) KM Munshi

(D) Rajendra Prasad

U9-10- FoRI-U-H1HE I 319 T JHA 17 1
What do you mean by jins-i-kamil?
YY-11-T[% A g Uikl TR & G & 2 1

Guru Nanak was the bhakti saint of which bhakti tradition?
UY-12 9-9qd & deH A HIH AT HY 3RA § -

(F) 3T diced Udled! § URATT THIS S FHHIRAT < |

() 3TebT ST diforR T g3 o |

(M) 39 39 I goid | forRaT &t IoMnT guia: JRISd § |

(9) I YR SISRT Dl AT0D HARRI I HRUR I |

Which statement is false about Ibn-Battuta:

(a) He provided details about Indian society of the fourteenth century
(b) He was born in Tangier.

(c) He wrote in his travel account that highways were secure.

(d) He found Indian markets full of opportunities.

TY-13- AT JUT H b T IeRY UdTd URd fohar or 2

Who moved the Objective resolution in the Constituent Assembly?

U%-14- fsfexr orat A fdp g el & fedd WMl & 1H odgd

Name any two hill stations developed during British period
-15-1565%. W fbu g & Aeg@ ¥ w9 W T T Wi gu @ 2

@) UHud

@) HHa

) Al
) &R - St

In which battlefield Rama Raya was miserably defeated in 1565 A.D?
a) Panipat

b) Sonipat

¢) Hampi

d) Rakshasi — Tangadi



UY-16- AEfeIRad IiTel d1GRIMEI R fddR $Hi-
(1) BAIR

(2) 3HeR

(3) 3OS

ORIEH]

g1 gl Dlerch Y o Y I AT 52
(®)3,2,1,4

(@)2,1,4,3

(N1,2,3.4

(W4,3,2,1
Consider the following Mughal emperors -

(1) Jahangir
(2) Akbar

(3) Aurangzeb
(4) Shah Jahan

Which of the following is their correct chronology?

(A)3.2,1,4

(B) 2,1,4,3

(C)1,2,3,4

(D) 4,3,2,1

U-17- FEfiRad & T &1+ A1 iTel AEd & 9R § gl g1 82

(@) 3D R B GRT BRI DI I SRR I YU HINT S131 747 ]|

() TS I T BT g fog GG AT

(N 1570 P G T HDHaR = T AU BdgyR iR H G4 1 b [
(%) AIER el Dl AT SfehaR b JHY ST T ]|

Which of the following statements is incorrect about Mughal Empire?



(A) It was Akbar who consciously set out to make Persian the leading language of the
Mughal court.
(B) The visible centre of Mughal power was the Dargah.
(C) In the 1570s Akbar decided to build a new capital Fatehpur Sikri.
(D) During Akbar reign ‘Lahore’ was the capital of Mughal Empire.
-18 ea T ¥ feme fbT T S 9 - 1
P) A THI- §AY
@) 96} M- 96R
M) TR AHI-3GH gHIG AR
) MaWIR AW- et gewe oifem

Choose the incorrectly matched pairs:
a) Humayun Nama- Humayun

b) Babur Nama- Babur

¢) Badsha Nama-Abdul Hamid Lahori

d) Alamgir Nama- Mirza Muhammad Qazim

TY-19- UHYT (A): "I AU Bt Af » AlS Sagol gRIOT P T 21 1
PHRUN(R): 8 HRA H 3¢ S[STTHYH! &b JSTHiicih &3 Bl SgHT drgdr 4T

(@) AR RETATI G 3R R, A DI TG TRAT G|

@) A 3R R I Id § AP R, A BT Igt WFIH0 81 3 |

(M AT § Afd RITAd B

(d) ATAd § AfhT R AT R

Assertion(A): the “Doctrine of Lapse” was introduced by Lord Dalhousie.
Reason(R):He wanted to increase the political territory of East India Company in India.
(A)Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is not the correct explanation of A.

(C) Ais true but R is false.

(D) A'is false but R is true.

U-20- (7Y B BT ugar 3R 3G A9 ford] 1

Identify the following image and write its name.



OR
79 ©fd &1 ugaH 3R 3T 714 ford

Identify the following image and write its name.

HI-2/PART-B

U421- RIAQdG 370 Dol T B3 d¥figpd HRd g2 Ui DIy

Describe how did the archaeologists classify their finds?
T 22- HLDHTA T Gl 3R Herd TRAERTST gRT 4TS 7 Yftrept o1 =raf I
Describe the role played by Sufi and Bhakti traditions during medieval period.

STYdT/OR

3



“3TAIR Td TYIR Idll b GRI deblai ArdTfoTeh- e Afd-Rarsll IR He1 wgR
foh | AT HYT D1 UG YHIUN o 1Y ARSI IS,

"The Alwar and Nayanar saints attacked the socio-religious customs of their period."
Explain the statement with appropriate evidences.

23-1857 & fdgig &l Udhid R =< DI 3
Discuss the nature of the revolt of 1857.
T 24- 3R] RIde g 7 YR Xl D Sita ol b WHTIdd fohar 3

How did the American civil war affect the lives of ryots in India?

HIT-3/SECTION-C

U425- HI TR o1 G [aRIod137 o1 @i DIfog) Sl & e T 3Gd [ dedl
DI HRATT YR H ¢ oIl APl § 2 6+2= 8

Discuss the main features of the Mauryan Administration. In today's context, which of
its elements can be seen in Indian administration?

SYJI/OR

“Bol Tdlsal 3a1-Yd H Ty & T ) i gy faemm ot s 39 T arirsy
& U T JIUT DR bl ol fad=r 1 pifere.

"In the 6th century BCE, Magadha region had all the conditions that could establish it
as an empire.” Discuss.

T 26- 31 IRIh] D1 URSAT BT ISR U= d 3R UTH W/ UTHI GHIS D1
AIET HRd A2 Idq T 27 RIDh | § fb a1 daara S g2 6+2= 8
Explain the methods in which panchayats and village headmen regulated rural society.
To what extent these methods has changed at present?

3HYd[/OR
“2&dl T4 Qudl TUdTsd! & BV aTel H Higensil Dt Yffihl URAR 3R JaTel §
TTITRACTdT &1 ST TG T BId B ! Al ST HD AR BT
"During 16" and 17" century the role of women in the agricultural society was working
to maintain mobility in the family and society.” Critically interpret.

Us 27- 1857 b [dgig & [SHIdD 3R 31 HRUN Dt <] HISY| 4+4=8

Discuss the political and economic causes of the Revolt of 1857?



SYdI/OR

<D eTHD & T fhy T BT daara A sifed fHie=T IRA ot y=ii-e
Hifqar 1857 & faxig & foT saraT forigR off > 9=l Sifore,

"The administrative policies of the British rule were more responsible for the Revolt of
1857 than the legal changes in the socio-religious sphere." Discuss

HI- 4/ PART-D

U 28- fuferiad SexU &1 &A-Ydd Uit SR 3P ofd T U U Ul & IR GIom:
Read the following extracts carefully and answer the questions given below

Y R S SiTd 29 6

g Jox Ul HETUReST i 3 ferdn 71 g Sl o fuee &1 g g:
gRIA9Tor 8 gd 3fHg = gel:

I §H TUNT (e DT GIRT ATH) & AR [ T D12

G - BT, “TUNTd D AR} D] AT 3T bR WG DI Al b! | YHlTg! &,
3T HlTs o foIe Tam o |«

AfehT fa=IY 311918 A W g e

“3Jg TUNT P foTg IR Ul & Al TR YU (KU &1 UIfel ) S17 1feq | i off
I8! YU IT HIST IGIUI AT 981 RR TaTQ, A1 981 UR g H Rifd AN, 39 Jadb
foTy 9% iR BTl db oI 3R 3T BT BT F477 |«

(i) WU fhd HEd 82 3G DI WY G411 Dl FaTg fva fam 1+1=2
(i) TUNT DI &2 I ¥ & Tgd D IR H T I 1+1=2
(iii) frg! < R & A1 13 S8T ¥qU S 7Y 2

Why were Stupas Built?
“This is an excerpt from the Mahaparinibbana Sutta, part of the Sutta Pitaka:
As the Buddha lay dying, Ananda asked him:
“What are we to do Lord, with remains of the Tathagata (another name for the
Buddha)?”
The Buddha replied: “Hinder not your selves Ananda by honouring the remains of the
Tathagata. Be zealous, be intent on your own good.”
But when pressed further, the Buddha said:
“At the four crossroads they should erect a thupa (Pali for stupa) to the Tathagata. And
whosoever shall there place garlands or perfume....or make a salutation there, or
become in its presence calm of heart, that shall long be to them for a profit and joy.”




(i) What are the Stupas? Who advised the Ananda to build the Stupa? 1+1=2
(i) Who was the Tathagata? What had he told about the importance of the stupa?1+1=2
(i) Name any two places where the Stupas have been built. 2

UY 29- Fofifad IR0 & eyde ufeu iR I9& 3id H U ¢ Ul &b IR I 6

Read the following extracts carefully and answer the questions given below.

ST 3R ATIR]

SR & a3 URIE URYD HVIGd IF(RRIADIA 1509-29) = RGADH AT & [q9g
T SIS ATHD deiv] HTST H Toh Bid ferdt, sAmumiat & favy & Ig- ferr.

Td ST DI 3O S&G7MR1 ! JURAT MY 3R AT Bl 34 UHR UlTgd BT
QU ! TSI, BT Il d=a, Jdl TT 39 I3 bl ol AR TR T [bdT S
b, 3Y Y BT AMGY Dt 39 fAdRA AFRDT forg WML AR a1 Ybr &
HRO 3P ¥ H IARAT TSdl 8,D1 HeHifd S/HTE DI o T, g o= &
AR ST Bl 3R 3wy °igl BT A DR 8, D] ISl 93 § A, digh
PR T IAd GATh &1 Wibid GhR U 1Y Jhdg HRAT ANGEUHT HR R Y
&g HH W TR g=AH! b ol g

(i) POIGA I A ST & fob Gl ol el Dl g2 2
(i) 31T T AT Tl g b ST 19 T ATUR Dl TG BT 3agd UI? 2

(iii)ITSTT GRT 3T Iog Dt (YT DT gk B & [T IS T Dl Dl TRSAT
Do 2

“King and Traders”

Krishna deva Raya (ruled 1509-29), the most famous ruler of Vijayanagara, composed a
work on statecraft in Telugu known as the Amuktamalyada. About traders he wrote:

A king should improve the harbours of his country and so encourage its commerce that
horses, elephants, precious gems, sandalwood, pearls and other articles are freely
imported ... He should arrange that the foreign sailors who land in his country on
account of storms, illness and exhaustion are looked after in a suitable manner. ... Make
the merchants of distant foreign countries who import elephants and good horses be



attached to yourself by providing them with daily audience, presents and allowing
decent profits. Then those articles will never go to your enemies.

(i)What are the responsibilities of king mentioned by Krishna deva Raya? 2
(i)Why do you think that king was interested in encouraging trade? 2
(ii)Explain the steps taken by the king to improve the conditions of his country. 2

Y 30- fFafifad 3¢u1 &1 e gde ufeu 3ik 39% 3id # g T sl & IR e 6

Read the following extracts carefully and answer the questions given below.

U BTl qER?

A & 9R H 3HIRTd ToleaR, 1908 H U U 3R I Ul U;

... SER QRIUT SMTar GRIRT & ol B ST SITd g (SR S| Bid T Uleh
SRl & ST §: 3R 3P S db=ia a1 DI dsl R d1dd b dd 3HTd STl g & |
gl a o sl 213 SIR [T SR e gt SATaTe] aret! =it Skt o off gt
is-yre 7l et SRt sga il g e A TR i g .. |

()98 WU TR Hgl R &7 2

(i) fg-HTT 1 &2 A 1 Fdl 9| 1+1=2

(iii)yscid T3 3R fefweieh=T o r RUfq 2t 2
A rural city?

Read this excerpt on Madras from the Imperial Gazetteer,1908;

....the better European residences are built in the midst of compounds which almost
attain the dignity of parks; and rice-fields frequently wind in and out between these in
almost rural fashion. Even in the most thickly peopled native quarters such as Black
Town and Triplicane, there is little of the crowding found in many others towns. ...

(i)Where were the better European houses situated? 2
(i)Who were dubashes? What did they do? 1+1=2

(il))What was the position of Black Town and Triplicane? 2

HI[-5/PART-E



UY -31.1 faU T YRd & Aoifde A WR HafaRad o1 gRigd 3R 3-9d 7™
sifbd iforgl 3
(i) TITRIeT, TS WIDT Ueh §GTE TR
HYdf
(ii) 3RT, G DIt Teb ASTETHL
HYdf

gHl U AT TR,
(iii)dUROI
On the given political outline map of India, Locate and label the following.
(i)Lothal, A Harappan seaport.

OR
Sopara, an earlier seaport.
(i1) Agra — the capital city of Mughals

OR
Hampi, a capital city.
(iif) Champaran

U -31.2 YR & 14T 7Y WGT AR TR, 1857 i hitd I &lad diF Bzl b 3 &
IR AP ¥ H Fafed foar 71 g, Ugda-dH: ol °1H ferd. 3

On the same outline map of India, three centers related to the Revolt of 1857 have been
marked as A, B and C. identify them and write Correct name.

et uy $aa =P oiftra wHanRiar & e gy 9@ 31.1 iR 312 F RIF
U

31.1 T GrUTed & fobeg! oI 1T LRI BT el Diforg |
31.2 HRARI P sfigle A I3 fb-g1 i Heayul dsl & 1 farfau |

The following questions are for visually impaired candidates only in lieu of Q. No.
31.1and 31.2:

31.1 Name any three capital city of Mughal Empire.

31.2 Name any three important centers related with Indian National Movement.
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